Register No.

5841-23

(For the candidates admitted from 2017 — 2018 onwards)
B.A. LL.B. DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2023.
(Five — year Regular Course)
Third Year — Sixth Semester

LABOUR LAW —I

Time : 2 % hours - Maximum : 70 marks
PART A — (2 x.12 = 24 marks)
Answer TWO of the following in about 500 words each.

Geérapeuaraupmiar @ ey @ eabeurm elamein@n gnssmy 500 Gempsafled
: L WG &S D.

1. = What is ‘closure’? Explain when and what are the procedures to be adopted for
closing an industrial undertaking permanently.

‘Brpsrons epBse eepred erear? rLGLTE  eraTdardTar Bl (P DEEHESE l
o UL @ Qsmiperewamw HlFbgTors epgefll (Pigubd eTeTUamS < 4Imiis.

9. What are the privileges enjoyed by the Registered Trade Union?
ule] Q&u‘Ju_n_'Ju-l'_u_ Qsmhemsnse @UEED FQIDSSHET WTm6 ?
3. Trace the origin and development of labour legislations in India.
@idwreiled Agmflemert s mseafa Comppb LHHID cuei&dlenw sesrMls.
PARTB —(2x7=14 mérks)
Answer TWO of the following in about 300 words each.

GeimeumeuaTeupmieT @ ey hE geu@eun allamaipEn agnssmp 300 Qemnsafle
el wefl&sa|w.

4. Define the term “Industrial Dispute”. When an individual dispute becomes
‘industrial dispute? : \
“Qsmfler sorTn” eramums amyum. auQurys safl pufler ssrmy Gsmpled
BETTD %SS! ?

Explain the various wage concepts. “The capacity of the employer to pay has no
bearing for payment of minimum wages” — Clarify.
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uGeum eumswTar sadlul SESSDLaEMET NaEGE. “G@DHSLILE emluid
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Qgafleuns@e.



o (e) Appropriate Governmeq{;.

Explain the salient features of 'the‘ Industrial Employment (Standing orders)
Act, 1946. ' . S ,

1946-1b <yeEH G]grr@c\)é verllsar (Heowurmansdn) s Lsfear Apliy Sibsksmen
efleTd@a.. v : - ’ .

PART C— (5 x 4= 20 marks)
. Write shor:t note; on FIVE of the following : '. R
Qeraieiamaipper S An @ﬂﬂoqm TPgIE:
‘ (a) ° Dissolution of trade union. |
angﬁlm&rﬂg el
(b). Conciliation officer.
" gogs sl ‘
(¢) Unfair lai)our practice. |
Cpit@wupp Asmfie: pLeysamgger.
@ Qeductions under the Paym'en'p of Wages Act, 1936.
) 1936-4_‘[; @) eardlud eupmIGD FL SHler S a@wﬁ{sétuut.l_ s e gar.
- o Ml ops.
(® Retrenchment.
QYL GdHOULY. -
(g)' Ihspéctors.
a;bu‘;lmrrmfradr.

PART D — (2 X 6 = 12 marks)

Answer TWO of the following by referring to relevant proﬁsiqns of law and decided

cases. Give cogent reasons.

. DereupeuaTaLppIET @TeimyHE FLL aIMBLIGISET LDﬁ)Q]Lb Smomeflésriun QS GHMmaTs

sl 5GBS sTTeThsERL el weflssa .

An industrial dispute arises between the management and employees of the
Kerala branch of an All India company having its head quarters at Delhi.
Decide which Government is the ‘Appropriate Govt.’ to decide their issues,

QLévellerw gamavenouiwns 2 eLw @i sifle @b ggmmgg,]m Garerm Heper
Bieurasdben, @igar uafluraisemsgn oLCu OsmAbssymy THUGSDg.
Bps apsams Puss ‘e Mu s ag aatums Pre| QFus. :
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10.

The employees of Bharathi Mill -and Co. .rés'orted .to sympathetic strikg. ‘
The management refused to pay wages on that day. The employees filed a suit
against this. Whether they will succeed? ‘ : .

'umyg] Boadle veflyflyd vellwrerisdar oi@sTu Caueoe Hpssd Ceugmisd.

Aireunsid sibs Cuwe Apss HrEpse sbuerd dETRéEs LNSESE- Qsmfarmiger -
Qsman adiss wa) QeLgNis. Seulsdr adaisarm? S

Seven employees of PRT Engineering Ltd, applied for the rggistration of ‘trade
union. When the application is- pending, two persons died. Thg registrar
refused to register the trade union stating that there is no required seven :

members. An appeal was filed. Decide.

PRT @argafufii AL fpeasdear g Osmferariser qu@mms
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